ECONOMICS  BENCHMARK  3                  SUMMER TERM 2020

NAME: ………………………………..

MICRO  MULTIPLE  CHOICE  QUESTIONS
[image: image1.png]Only one answer per question is allowed.

For each answer completely fill in the circle alongside the appropriate answer.
[=]<]

If you want to change your answer you must cross out your original answer as shown. [¢]

commecTuemoo[ @] wowamenoos (@]

If you wish to return to an answer previously crossed out, ring the answer you now wish to
select as shown.

The central purpose of the production of goods and services is to
A achieve more technological innovation.
B maximise exports.

€ maximise profits.

[ [ [ [o

D satisfy consumer wants.

[1 mark]




ANSWER:

[image: image2.png]In an economy, competitive firms supply electricity that is generated using coal-fired
Ppower stations.

If the government tries to reduce pollution by imposing an indirect tax on the firms, this.
would

A shift the market demand curve to the left.
B shift the market demand curve to the right.

C shift the market supply curve to the left.

DRORORD

D shift the market supply curve to the right.
[1 mark]




ANSWER:

[image: image3.png]The price elasticity of demand (PED) for petrol used by car drivers in an economy is.
estimated to be 0.2.

Which one of the following is the most likely reason for the low PED?
A Ataxon petrol
B Cycle lanes on many roads

C Few bus and rail services

D Low household incomes

[ [ [ ]

[1 mark]




ANSWER:
[image: image4.png]The diagram below shows the demand curve (D) and the supply curve (S) in the market

for tomatoes.

Price

Q Quantity

Which one of the following would result in a higher quantity consumed and a lower price

charged for tomatoes?
A Afallin the price of the fertliser used to grow tomatoes

B A hot summer causes consumers to eat more tomato salad

C The minimum wage for farm workers is increased

D The price of cucumbers falls

[ [o] [o] [o

1 mark]




ANSWER:

[image: image5.png]Ben owns a small business that makes hand-made guitars.

One year he sells 160 uitars, his total revenue is £78 400, and his total costs are
£59 200.

The average profit that Ben earns on each guitar is
A £120
B £370

C £490

[ [o] [o] [l

D £860
[1 mark]




ANSWER:
[image: image6.png]10]6] Which one of the following is most likely to reduce the benefits of specialisation?
A Areduction in government regulations
B An increase in compeition

© Taxes on pollution

OEORENG)

D Trade conducted by bartering




ANSWER:

[image: image7.png]'Smoking cigarettes generates negative consumption exteralities.

‘This means that

A the private benefit from smoking includes the consumption
extemalites.

B the social benefit from smoking is less than the private benefit.

€ the social benefitfrom smoking is negative.

UUo g

D the social optimum level of smoking is zero.
1 mark]




ANSWER:
[image: image8.png]Which one of the following is an example of the economic resource capital?

A Abank loan to a small business
B Ascientific research laboratory

© Govemment subsidies for wind power

DRORORD|

D Money in a savings account
1 mark]




ANSWER:
[image: image9.png]Training provided by firms in a free market economy may be underprovided because
some of the benefis from training may be captured by other firms when the workers
change jobs. Which one of the following best describes this situation?

A A negative production externality and a missing market
B A negative production externality and partial market failure

C A positive production externality and a missing market

([ [ [

D A positive production externality and partial market failure:
1 mark]




ANSWER:

[image: image10.png]The income elasticity of demand for baked beans is ~0.4.
Weekly sales of baked beans are 73 000 tins.

If household incomes fall by 5%, then the new weekly sales of baked bean tins would
be

A 63875
B 71540

C 74460

DRORORD

D 82125

[1 mark]




ANSWER:
                                               MACRO MULTIPLE CHOICE QUESTIONS
[image: image11.png]Changes in real GDP are used to measure

A inflation.
B the level of employment.
€ economic growth.

D the distribution of income.

ARORENG

[1 mark]



 
ANSWER:

[image: image12.png]The diagram below shows two aggregate demand curves (AD) for an economy.

Price
level
AD,
AD,
o Real national
output

Al other things being equal, the most likely cause of the shift from AD; to AD; is
anincrease in

A exports.
B the rate of inflation.
C interest rates.

D the budget deficit.

DRERERG

[1 mark]




ANSWER:
[image: image13.png]Al other things being equal, the long-run aggregate supply curve of an economy
is likely to shift to the right if there is an increase in

A factor mobility.
B raw material prices.

C indirect taxation.

0B

D wage rates.
[1 mark]




ANSWER:
[image: image14.png]A country has a slow rate of growth of productivity and rising cyclical
unemployment. Al other things being equal, which measures are most likely to
increase the rate of growth of productivity and reduce cyclical unemployment?
A Increased investment and increased saving

B More government spending on training and a higher
exchange rate

C Decreased benefit payments and a lower budget deficit

ARORERE

D Lower taxation on firms and lower interest rates.
[1 mark]




ANSWER:
[image: image15.png]The diagram below shows two aggregate demand curves (AD) and the short-run
aggregate supply curve (SRAS) for an economy.

o Y; Y, Realnational
output

Al other things being equal, which one of the following is the most likely cause of
the movement of the economy from equilibrium at Y, to equilibrium at Y?

A A decrease in imports

B Anincrease in savings

C Adecrease in the money supply

ERERENE

D Anincrease in productivity
[1 mark]




ANSWER:

[image: image16.png]The table below shows how the index of GDP and the index of population
changed in an economy between 2011 and 2015.

GDP Population

(2013 = 100) (2013 = 100)
2011 %2 o7
2012 % 99
2013 100 100
2014 101 102
2015 103 103

Which one of the following can be inferred from the data?

A Population was higher than GDP in 2011

B Between 2011 and 2013, GDP grew by 8% whereas
population grew by 3%

C There was no growth in GDP per capita between 2013

and 2015

D Money GDP increased by more than real GDP between

2011 and 2015

0o

[1 mark]




ANSWER:

[image: image17.png]As a consequence of a severe global recession, an economy has experienced a
demand-side shock and is now growing below its trend rate.

Al other things being equal, which one of the following combinations, A, B, C or
D, is now most likely to exist in this economy?

Rate of Rate of

unemployment % inflation %
A Falling Increasing =]
B Falling Falling =
c Increasing Falling =
D Increasing Increasing =

[1 mark]




ANSWER:

[image: image18.png]In which one of the following situations could the UK be said to be experiencing a

negative output gap?

A Output per worker is lower in the UK than in the USA =1

B Real GDP inthe UK s less than the economy's productive [
potential

© UK fimns do not have suffiient productive capacity o satisfy [
customer demand

D The skills possessed by UK workers do not match those =
which are required by UK employers

[1 mark]




 

ANSWER:

[image: image19.png]Structural unemployment is most likely to occur because of

A labour being temporarily unemployed when moving
between jobs.

B fluctuations in the level of aggregate demand.

€ the seasonal nature of certain occupations.

D long-term changes i the pattern of demand for the products
of particular industries.

[ BB e

[1 mark]




ANSWER:

[image: image20.png]An economy is in macroeconomic equilibrium, producing at its normal capacity
level of output. Without long-run economic growth, a persistent increase in
aggregate demand is likely to lead to an increase in the level of

A real GDP.
B employment.

C productivity.

ARORERG

D prices.
[1 mark]




ANSWER:

Question 21:
 [image: image21.png]FALLING WORLD COMMODITY PRICES GIVE THE UK ECONOMY A BOOST

ExtractA:  Indices of world energy and world food prices, 2010 = 100
Index of world energy prices Index of world food prices
September 116.62 101.26
x5 | October 106.20 100.68
* [ November 96.38 103.03
December 7855 101.45
January 63.06 9887
'g February 70.46 96.58
March 68.32 94.10





Use Extract A to calculate, to two decimal places, the percentage change in the

price of energy between September 2014 and March 2015.

Answer ……………………….

    2 marks
Question 22:

Extract B: UK inflation at zero percent

The annual change in consumer prices was zero percent in March 2015. This is     1

the second month in a row that the cost of living is broadly the same as it was a 

year earlier. Some economists are predicting that the CPI inflation rate will fall 

further in the coming months. However, few believe that the UK is at risk of 

suffering a period of sustained deflation as experienced by Japan during the          5

past 25 years. The weakness in global energy prices and food prices combined 

with the recent appreciation in the pound sterling exchange rate help to explain

the recent fall in inflation in the UK. The recent price war between the 

supermarkets has benefited consumers but it cannot be assumed that such

intense competition will be maintained. The price of petrol in the UK has               10

already started to increase again in response to the recent recovery in the 

world market price of oil.

Extract B (lines 6 to 8) states ‘The weakness in global energy prices and food

prices combined with the recent appreciation in the pound sterling exchange rate

help to explain the recent fall in inflation in the UK.’

Explain why a rise in the pound sterling exchange rate is likely to affect the rate of inflation in the UK.
Students can use information and data from Extract A, B and C in their answer.


















 9 marks
Extract C: Low commodity prices are good for us… or are they?

Falling energy and food prices have benefited UK households, leading to a rise in   1

their real incomes. Average earnings growth remains low at around 2% but, with
inflation even lower, many people are now starting to feel better off. Rising real 
incomes should help to boost consumer confidence, encouraging households to
spend more. Lower commodity prices have also been good for most businesses;     5

the average price that manufacturers are paying for raw materials and fuel has 
fallen by 13% during the past year. However, not everyone benefits. 
Firms involved in the extraction of oil and gas from the North Sea have been hit 
hard by reduced revenues as a result of falling world oil and gas prices. Low or 
non-existent inflation means that the Bank of England does not need to raise         10

interest rates for a while and some economists are predicting that, as long as 
inflation remains below the government’s 2% target, the current expansionary 
monetary policy will be maintained. This should help to sustain the growth in 
business investment and in house building. Borrowers will benefit but savers 
will lose out once again. Low commodity prices will affect the UK balance of       15

payments on current account which was close to a record deficit of nearly 6%
of nominal GDP in 2014. Whilst the amount spent on importing energy and 
raw materials is likely to fall, the effect on the competitiveness of UK 
manufacturing is less certain. The impact on the markets in which we sell 
our exports is also hard to predict.                                           



20
Answer…………
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    End of Benchmark
